FgArea: [0 ]
NC11 P3-8
2025-06—-04 (Day 67)




00000
o o



VN

2000
1750 ~
1500 ~
1250 ~
1000 ~
750 -
500 -
250 -

65

60

95

50

45

40

35



1 0IR

——

0.5 -



o 1 VI vs Du o
[ I )

2250

2000 -

1750 ~

1500 ~ @

1250

1000 ~

750

T T T T T T T
1000 1500 2000 2500 3000 3500 4000
DU



. 650 A

. 625

. 600 -

. 575 ~

. 9550 ~

. 525 ~

. 500 ~

. 475 ~

FR

47.5

50.0

52.5

55.0

T
57.5

60.0

62.5

65.0

67.5



1 setVI

—o—

170 -
160 -
150 -
140 -

50.0 52.5 55.0 57.5 60.0 62.5 65.0 67.5

47.5



1 (fgArea = NA)

| T
—o— ECI*10% k :
—— 1
6000 - ECO i
1
K I
1
5000 :
1
1
1
:
4000 11 |
1
1
1
1
3000 I
1
1
1
1
2000 el
1
1
1
35 40 45 50 55 60 65







Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
T

200 . : N\ T e s ——— —
1] \ —— op

B W o) '\/\/\ : vVVLV‘JU | \N\IU\_I | m\
U o

200 , | ' | E

100 l :

’ T o =

25.0 A E I \/\’\,—

22.5 A [\ A /" \""\/\\

20.0 n. A | /[ VA V VL/' -

L A

15.0 | i

12.5 , U W

m W s |
5 \——Ar A Mﬂ i \

o
N,

0 25 50 75 100 125 150 175

2000 A E [\WA\_,A A T

A -
al

J B R
| 1l 5
12 . N

0.5 _/ E \

0 25 50 75 100 125 150 175

1.4

: [\ AA —— optEtRate
1

1.2 I N
1

o AN . | , , v
T A T P A s

" 1 \

0.2

0 25 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-8

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS EE
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P3-8_0, Day=67 (2025-06-04)
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P3-8
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P3-8

BflE) | GEBRAK @) | ERE(EH/N | EREE (G/R) [ XS R

07:55 273 150.0 2.583 F  BRi1%e07:55 Bz (GRAERE)
08:30 273 150.0 2.583 5| {Ri%@08:30 Bz (KRAAMERSE)
09:10 273 150. 0 2.583 E[ BRi%e09:10 Bz (GRAERSE)
09:45 273 150.0 2.583 F BRi%e09:45 BE1 (GREERE)
10:20 273 150.0 2.583 =l {Ri%@10:20 B3 (RAERSE)
10:55 273 150. 0 2.583 E BRi%e10:55 Bzl (GRAERERE)
11:30 273 150. 0 2.583 E| {Rige11:30 Bzh (RE{EREE)
12:15 273 150.0 2.583 =l RiBe12:15 Bz (REAKEEE)
12:50 273 150. 0 2.583 E BRige12:50 Bz (GRAERESE)
13:25 273 150.0 2.583 (£=| {Rige13:25 Bz (RAEDSE)
14:00 273 150.0 2.583 (Z=| 1Rig@14:00 B3 (RAERSE)
14:35 273 150.0 2.583 (Z=| {Ri%e14:35 Bz (REAERSE)
15:10 273 150.0 2.583 (£=| 1Ri%e15:10 Bz (RAEDSE)
15:50 273 150.0 2.583 |Z=| {Ri&e15:50 B (REEZEBE)
16:50 273 150.0 2.583 (Z=| {Ri%@16:50 Bz (RAEHSE)
21t] 4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

ERGEBLRT 4K (600) 5THA (273. 0) R FF, FREH T & MREEZRS % XIER
ZRIA KPR EBE330. 0 ml.
H#EEIRECZE (1907. 0 vs 4945.0) 535
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P3-8

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS R

09:50 273 150.0 2.583 |Z=| {Ri%e09:50 Bz (KREAEZEHE)
11:05 273 150. 0 2.583 FA| {Ri%e11:05 Bz (CGRAEESE)
12:00 273 150.0 2.583 FA| {Ri%@12:00 Bz (GRAEEE)
12:55 273 150. 0 2.583 FA| 1BRi%@12:55 Bzh (kA{EREE)
13:45 273 150.0 2.583 FA| 1B2i%@13:45 B3h (kBEREE)
15:10 273 150.0 2.583 FA| 1BRi%@15:10 B3h (RAHERSE)
Bit]1638.0 (6%) 900.0 32 KEC: 2080.0, PH: 6.0

[E;&EC 5432.0 K5, EiNF{KECAR&M%ER
#H[EKECE (2007.0 vs 5432.0) 15
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P3-8

BYiE) | GEBIATK () | EHME (EA/H) | BEBRERE (B/R) | XK R

06:35 278 150.0 2.583 FA| 1B2i%@06:35 B3h (kA{EREEE)
07:35 278 150.0 2.583 FA| 1Bzi%@07:35 Bzh (KBRS
08:35 278 150.0 2.583 FA| 1RRi%@08:35 Bz (FKAEREE)
09:35 278 150.0 2.583 FA| 1BRi%@09:35 B3h (FKA{EREEE)
10:35 278 150.0 2.583 FA| 1B2i%@10:35 B3h (RAIERSE)
11:35 278 150.0 2.583 FA| 1BRi%@11:35 Bzh (RAERSE)
13:30 278 150.0 2.583 | KM| {Ri%e13:30 B (KREEZBE)
21t 1946.0 (7%) 1050.0 32 #KEC: 2080.0, PH: 6.0

[B;&EC 5737.0 K&, EiFA{KECAE&itkER
#[EKECE (2087.0 vs 5737.0) 15
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ET (ml/hr/plant) ET (ml/hr/plant)
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P3-8_0, Day=63 (2025-05-31)
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